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Capacity – 1 

1. 172 L 5 ml is equal to ______________ ml 

a) 1725 ml      b) 172500 ml 

c) 172005 ml      d) 172050 ml 

2. 
�

�
 liter = ________ ml 

a) 250 ml       b) 200 ml 

c) 350 ml       d) 500 ml 

3. 507057 ml is equal to ________ liters and ________ milliliters. 

a) 570 liters and 57 milliliters    b) 570 liters and 750 milliliters 

c) 507 liters and 570 milliliters    d) 507 liters and 57 milliliters 

4. 2 
�

�
 liter = ________ milliliters 

a) 2150 ml      b) 2250 ml 

c) 2350 ml      d) 2450 ml 

5. Add 125 L 840 ml and 182 L 65 ml. 

a) 370 L 509 ml      b) 307 L 905 ml 

c) 307 L 950 ml      d) 370 L 950 ml 

6. 245 L 870 ml - ____________ = 97 L 650 ml 

a) 148 L 202 ml      b) 184 L 202 ml 

c) 148 L 220 ml      d) 148 L 22 ml 

7. John bought 42 L 750 ml mustard oil, 62 L olive oil and 152 L 230 ml sunflower oil. How much total 

capacity of oil did he buy? 

a) 256 L 980 ml      b) 265 L 980 ml 

c) 265 L 890 ml      d) 625 L 980 ml 

8. A shopkeeper had 375 L 780 ml cooking oil. He sold 65 l 90 ml to a customer. How much oil left with 

him? 

a) 301 L 690 ml      b) 310 L 690 ml 

c) 310 L 960 ml      d) 301 L 960 ml 
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9. A gas station had 3700 liters of petrol. 1st day it sold 1200 L 650 ml and 2nd day it sold 981 L 230 ml. 

On 3rd day how much petrol is available in the gas station? 

a) 1815 L 120 ml      b) 1518 L 210 ml 

c) 1518 L 120 ml      d) 1158 L 210 ml 

10. 573 L 273 ml + 345 L 650 ml – 322 L 90 ml + 182 L 85 ml = ____________ 

a) 778 L 819 ml      b) 787 L 891 ml 

c) 819 L 778 ml      d) 778 L 918 ml 


